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BCOG-172 : INDIAN ECONOMY

Time : 3 Hours Maximum Marks : 100

Note : Attempt any five questions. All questions

carry equal marks.

1.

Define the concept of economic development.
Distinguish  between  development and
underdevelopment. What are the features of an

underdeveloped economy ? 5+5+10

Assess the Indian economy before economic
reforms. What are the main characteristics of

the New Economic Policy, 1991 ? 10+10
Describe various sources of commercial energy
along with their advantages and disadvantages.
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What do you mean by vicious cycle of poor
health ? Discuss the recent initiatives in health

care taken by the government. 10+10

Discuss regional imbalance in India. How was

the government responded to reduce it ? 10+10

Explain the concept of public-private
partnership model. Highlight its objectives and
challenges. 10+10

Explain the structure of IT industry. What are
the facilitators for growth of software industry

in India ? 10+10

Write short notes on any two of the following :
10+10

(a) Indicators of human resource development
(b) Instruments of monetary policy
(¢) Government support to MSMESs

(d) Revenue sources of state governments
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3. difuifseh ol o fafa= Hidi 1 9uiH 39 o

3R wfE gfea wifs 20

4, @9 W & gyEH U AU H GHSA B 7
TWHR R @A @he & fau feg o1 ®

g o YacT a1 foa=m wifsm) 10+10

5. IR H &g stHqer 1 fag=m wifSul el

%Y HH & 0 TWaHR 7 HHA-9 77 7 € 2

10+10

6. HrasiR-Tsi wrfiedt wiea = fag w1 e

HIfTl 3@k SeeAl IR gAfadl R e

Slfetq) 10+10

7. SME.A. ST &I WEAT &l TR HifSUl IR o
GiedeR ST & faamd & qHAUR =1 € ?

10+10
8. ffdafed d @ fe=l aF W dfera fewfort
fafem - 10+10
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